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PART A

Q1 (3
(b)
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Leta=| 4 1 1) p(72 O c=l 1 -1
3 -2) (1 -3 a

-3 4
Find the value of
) 44+ B
() -2B" -4
(i) 24"B

Given a system of equations:

x—2y—z=1
—x+3y+3z=4
2x-3y + z=10

@) Write a system into matrix equation, AX =B
(i)  Find the matrix determinant, | 4|
(iii)  Find adjoint, Adj 4

(iv)  Find the inverse of the matrix, A7

(10 marks)

(v)  Find x, y and z by using (iii) OR Gauss-Jordan Elimination Method

(15 marks)
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Express the expressions in simplest form with only positive exponents.

. 302 )7 (4)°
@) (Tbj (;j

2, 2
.. ax “+a‘x
(i) a1,
a +x
(9 marks)

Perform the indicated operations of radicals and express each radical in simplest
form.

() 375x +24/48x —2./18x

(i) \g+\/§—4«/§

(8 marks)
Solve for y interms of x.
1) lo —llo 7+—1—lo x
g3) ) 23 5 g3

(ii) 3Iny=2+3Inx

(8 marks)
(1) Factor completely: x* -81
(i)  Solveforx: x> —6x+4=0

(8 marks)

. x—18 . . ;
Write ————-in partial fraction form
x(x-3)
(7 marks)
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(x+3)(x—2)$0

Solve the inequality
(x+1)

(5 marks)

Find the root of f(x)=2x> —5x* —7x+6by using Secant Method in [3,3.5]
interval. Iterate until | f(x; )] <0.005 (4 decimal places).

(5 marks)
14
Evaluate this series using a formula: z (1 — 2k +3k? )
k=1
(7 marks)
Given — 8, -5, -2, ..., + 7.
) Determine whether this is an arithmetic sequence.
(i)  Find the sum of the sequence
(8 marks)
Given the first term T; = 1 and the fifth term Ts= 81.
(i) Insert three geometric terms between 1 and 81.
(i)  Find the sum of the first 5 terms.
(10 marks)
Without using calculator, find the value of sin (30°+120°)
(5 marks)
Verify the identity: cos’ 0 (1+ tan? 0) = 1
(4 marks)
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(¢)  Solve 3 sin® 8=1 for 0° < H< 360°.

(6 marks)
(d) Given 4 sin € + 3 cos =r sin (f+a) and 0 < < 2m.
@A) Find r and o .
(i)  Thus find the values of 0 if 4 sin 8 + 3 cos 6=2.
(10 marks)
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Formulae

i) xmxn - xm+n

v) x=b"&logyx=n

Exponent, Radical & Logarithms

vi)  log,(xy)=log, x+log, y
. x

vii) log, (—] =log, x —log, y
y

viii)  log, x* =klog, x

log, x

log, a

ix) log,x=

Polynomial
. —bi \/bz —4ac lll) x. — xif(xi+l)_xi+lf(xi)
Door=T T ) - S
ii 2 2
) x> +bx+c=x" +bx+(£) —(—b—) +e
2 2
2 2
SOROR
2

Sequence & Series Arithmetic Series Geometric Series

n l) Tn =a+(n—l)d 1) Tn =arn—l
1) Zc =cn d=u. —u

P n n-1 ,e u,

i) S, =_(a+u,) U,

o % n(n+1) 2
iy Sk="0rD o :

P iii) S, =5[2a+(n—1)d] i S = a(i—r ) i<

—r

< D2n+1
iii) )k’ _nn+t )6( n+l) -

- iy s =D o ) if 1

r —

Trigonometric Identity
i) cos? @ +sin’ 6=1
ii) 1+tan?@=sec’ @

iii) cot’@+1=csc*@

Addition and Subtraction Formulas:
i) sin(a + B)=sinacosf tcosasinf
ii) cos(a *+ B)=cosacosf Fsinasin f

tana t tan B
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Double - Angle Formulas Half — Angle Formulas

i) sin28=2sinfcosf 0 1-cos@
l) Si.n—2—=i >

ii) cos20=cos” @ —sin> @
OR cos260=2cos”> 6 -1

. 0_, 1+cos@
OR cos20=1-2sin’0 ii) cos— =+
iii) 20 = : 20 o 1-cos@
1-tan”“ 6 i) tan—==+
2 1+ cosé

Trigonometry Equation in the Form: asin 0 + b cos 0 =c¢

Let asin@+bcosf =rsin(f +a)
=r(sinfcosa +cosfsinx)
=(rcosa)sin@ + (rsina)cosf

. af b
We get a=rcosa and b=rsina = r=va® +b? a=tan1(—)

a

We use the above to solve:
asin@ + bcos@ =rsin(f + a)

asin@ —bcosO =rsin(f —a)
acos@+bsin@ =rcos(f —a)
acos@ —bsin@ =rcos(0 + a)

Matrices

a,; 4ap 43

dy; dj; ayy a a, Aaxp
A=|ay ay ap ,|Al=au —dy +ap;

das) as, as as; axp

as; 4as ds;
adi=c,)

a7 =L adgin)

14






